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"an was not 21» unless the v'';779 was covered

OVERVIEW
2R 27 say that the 17 of 217 *27 YR "7 "% "7 P is only by a
7Mpn "7, Otherwise "27 agrees that he is 79 because a "7 2171 is required
for mm a7°py. Our MdOIN explains how X1 27 derived this, since in the
Xn» 72 itself the 1dea of a 77 pP» °'"'1717 1s not mentioned at all.
— MY YHWNT DNYAN 12 PYNY 13239Y NN

It is the opinion of the X'aw= that 5X1mw1 21 derived their 7, that >21 2°mn X%
77IPn 2772 X9R, from the manner in which the np12nn was presented in the Xn>92 -

— YSNNI 2290 MY NN MYIY TINN MYIN VIPI XM
Since it was not presented in a situation where the object was thrown 5'"';19%
YRR 1""5777 9"'571Y, which is the way it should have been presented -

— 1929 N2YDY 297 XNNYD2 I
as it was presented in the argument between 31291 '3, which we had
previously. Why do we change the situation? Therefore 2Xmw1 27 derive that *27 would
not be 2’11 in a situation where it passed over a 1", because he does not agree with ¥"1
regarding nv12p. "7 is 2»°1n, only when it passes over a °"71, where we can say that he
is 2711 even though we do not maintain 7017p. This can only be, if he threw it into a "7
77IPn, where *27 maintains the concept 7 X917 181D Xn°3, so there was a proper 7Py

'7 01pn 23 Hyn anam. However in all other cases, i.e. in any 1"77 or a 7Mpn ARw °"71 a
regular "7 2pn is required for AMIM 7PY.

mMooIn anticipates the following question:
— (VI N,0¥ 97 PN P2 POINT NN
And concerning that which we have learnt in J5%° N20» in P97 P92 -

— 999 AT PN NN YR NTMIY NN 22
in the case of the 71wn where the women was standing on the roof and he
threw the v to her on the roof, etc. the mwn continues that if the husband was on
the roof and the woman was below in the courtyard, and he threw the v3 from the roof to
the courtyard, the 17 is that as soon as the ©3 clears the airspace of the roof and enters the

airspace of the courtyard, even before it lands, she is considered divorced. The X773 there
asks how she can be divorced; the vx when it entered the airspace of the 7¥n was not
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‘protected’ by the walls of the 'xn. To which the X3 replies, that the walls of the 73
were so high that they extended above the walls of the roof, so the vx was in the
‘protective’ walls of the 7% as soon as it left the roof. The &1 there continues -

=907 ANNNY 35 NVIVP IINT 2295 INDPD INP)

And states that our 71wn, that says that she is divorced before the vi lands,

agrees with "27 who maintains "»7 7m337w "2 7WYP, referring to our 77 of °27,
where YR "7 1"772 2" po1, and therefore she is divorced even before it actually
landed®.

It is apparent that the X7mX in Pv°) assumes that °27 is 211 because of V7P and not
because of *n7 X217 1815 Rn°2, which is in contradiction to what YR 21 say — therefore
we are forced to say that the X773 there —

— 11912 7NN MW NIN 229 290 RDT 999NT NIN NI 297 9920 XD
does not agree with what »Xmw 21 say here’ for they maintain the 531

was 2% only in a 719Ip1 "'719, and therefore we cannot apply it to the case in noon
71’ where it was not a 77pn "0,

The question arises however, according to X1 27 who maintain that >3 disagrees with
7v12p, so why is the women divorced even before it landed? m50I1n continues:

— 999039 DIVN DNNT SMIYY TP 1NN
and according to >X1w1 27, it will be necessary to explain® that the reason
why she is divorced, is not related to, whether the vi, when it enters the
airspace of the 7¥m, is considered as if it landed, for there is no requirement
for the v to land on the floor of the 7x7, rather what is required there, is that

the Vi be under her protective custody, and if the walls of the 231 extend above the
walls of the roof, then as soon as the v3 leaves the airspace of the roof, it is immediately

in her protective airspace of the 7%, and therefore she is divorced.
=132 NN 129N 13297 NIUN 0NN NIYNTD

As the X 1) there explains the miwn according to the 3129, who disagree

! Therefore we cannot be sure that it will remain in the %, it may be blown away by a wind, etc.
* It would seem that the x»3 there originally held that there are two distinct requirements to be met; a) that
the 03 be in the protective custody of the women, that is accomplished by the extended walls of the 7¥n, and
b) that the v be at rest, which is accomplished by n2p.
? See 181D 71"7 R,0Y 1PV BN, See 27717 WL how the X na there explains why the npYonn is 77 2" A" mn
°"717. See ‘Thinking it over’ # 4.
* The aforementioned Mdon in Pv>3 (footnote # 3) maintains that we cannot say that the mwn there is
according to 7v1?p 1207 ¥, because then it would not be necessary for the courtyard walls to extend above
the roof’s walls. Therefore the question is according to %W 279 who maintain that *27 does not maintain
muY2p, according to whom is the mawn. See ‘Thinking it over” # 3.
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with 019p, nevertheless the X n3 says that you may say that the 71wn goes
even according to the j137 -

1915 39IVIN DIVN NN AN HAY PIYY 1929 51999 %
When do the 3129 argue with °27, only concerning naw, where a proper
amIm 7Py 1s required but here by vi there is no requirement for a 7manA,

there is only a requirement that the vi be in her protective custody, and that
condition was met, by the extended walls, therefore the 1127 agree that she is divorced.

SUMMARY.

SR 27 were P71 from the fact that the np1onn between 73271 °27 is in a
case of ¥¥nR2°"771 7"717% 7"7n 7 and not in a case of "7 "7 "N P
y¥»R31, that is to emphasize that *27 is 21 only when there is a ¥¥naKX1 °"77
since then we can say 7 X°77 JX12 Xn°3, in the event of a 7pn "0,

The X713 in 10 argues with 21w 27 and assumes that 27 maintains 70Y7p,
even if it is not a 7MpPn >"77. PR 27 will maintain (like the 3327, who argue
with °27 by naw), that for a v3 to be valid there is no need for it to be at rest,
only that it should be in the protective custody of the woman..

THINKING IT OVER
1. What connection can be found between the s'R'"2w" initial statement and
mMooIN subsequent question?’

2. Why was mo0In concerned how 2R 27 would explain the miawn in 1w,
when the X773 there explicitly says that the 71wn can be understood even
according the 1127 who argue with 3277

3. Why did not the X3 in v say that the 71wn 1s according to ¥"3, who
maintains 705p?°

4. Why is it necessary to assume that the X773 in Pv%) argues with SR 27?
"Perhaps w"11 require a 1P "7 only by naw where a '7 21pn is needed, but
not by 1" where a '7 2P is not required!®

> See *n Hw nAw
% See Footnote # 4 and w>X nnn.
7 See footnote # 3.
¥ See x"ow.
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